=============PINCH_RESISTOR
SOMETIMES MODELING PINCH RESISTORS IS IMPORTANT.
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Vramp Vtest 0 PWL ( 0 0.1 5 5.0)

XRpinch Vtest 0 VRset Rpinch

Rset VRset 0 1k

.tran 100m 5 0 100m

.control

run

plot -vramp#branch

dump

.endc

. SUBCKT Rpinch INP INN VRS

Isen VRS 0 -1u

Bpinc INP INN I = .000001*(v(INP) - v(INN))/(V(VRS)*(1+1l*(v(INP) - v(INN))))
.ENDS Rpinch
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.end
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Vramp Vtest 0 PWL ( 0 0.1 5 5.0)
XRpinch Vtest 0 VRset Rpinch
Rset VRset 0 1k
.tran 100m 5 0 100m
.control
run
plot -vramp#branch
dump
.endc
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.SUBCKT Rpinch INP INN VRS

Isen VRS 0 -1lu

Bpinc INP INN I = .000001*(v(INP) - Vv(INN))/(V(VRS)*(1l+1*(v(INP) - v(INN))))
.ENDS Rpinch
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.end



